78

BT =hJLT—% / Technical Datall
#E{tRILY / Recommended torque

FNAITUTARILIM3x10 / Hexagonal M3-10 : 0.2N-m

FDhE R / Other screws : 0.3N*m ~ 0.6N-m

HEHNZ / Components

No. Z ¥ / Part name = / Pcs #ME / Material 8- REAIE / ColorFinish
: a—F—Javy 4 TILEF A Fv X ADC12 DILN—, Tovy-FE
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) 4R ) TILEHRHH A6063S-T5 DW= TSV TILIAND T HE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
2 IL—L 4 T ILSHRH# A6063S-T5 DIWN—, TSV TIIANI )T EE
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. ISR ) 7IJLEHR A1100P DIWIN— TS5 FILIAb
Panel Aluminium A1100P Silver , Black*Anodized
5 Hn— : 7ILEHR A1100P DIWIN— TS5 FILIAb
Top cover Aluminium A1100P Silver , Black*Anodized
6 Thi— : 7 JLEHR A1100P DIWIN—, TS99 TILIAk
Bottom cover Aluminium A1100P Silver , Black*Anodized
. aA—F—H—F o TPE (T5XK) TS99, JL—, RAE—, LR
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EfE R (M3 x 8) " % =T ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 IFER (RERFARILEMS x 10) 8 % =R /DA—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
10 BAER GRARERMS x 5) 8 % o ILAYE | ZlEVAA—k
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate

2
7
9
Bk (BFEFRREDOD) / Color Type(End of product numberd) 8
525 / Code 7 ILEH—X / Aluminium enclosure a—4—H—K / Corner guard
S B 2 JLIN— / Silver 75v7% / Black \ . _ _ .
N - - AHESIMIHI 2 RROEFE GRS INFEM T Z(CIFELES, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.
S G < )LiS— / Silver JL— / Gray 52T
Itle
S N 2 JLiS— / Silver RAE— / Navy N = " A —1
\ TAKACHI| %R FEMIE —F—H— R ILI— O
S R 2 JLiS— / Silver LwE / Red A—F—H—FHFTLIT—R <]
B B F594 / Black 9594 / Black TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD =
B G F5w4 / Black 5'L— / Gray A F2/Approved #2[X]/Checked #U[X/Created 1 /Product number RE/Scale
BN 75vY / Black RAE— / Navy AUG66-50-50-111
B R 759% / Black Lk / Red iR F w R—/Page

{Em A /Date 2024/09/27

177




66+ 0.3
(r—RH5\ 2 / External)

B-B(1:8)

453

D view

453

E view

500+ 0.8 (r—RX 442 / External)

500+ 0.8 (r— R4} iz / External)

C
& | Y,
A view
508
B = A
o AR
= A
F view
50
R24

A-A(1:8) 3 C-C(18)
486 493
C view B view
508
s 0 B = I
<
R52
3
a4 /Title

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a—F—H—FHTFILEr—R
ALUMINIUM ENCLOSURE with CORNER GUARD

o]

752/ Approved

iR

#%[X/Checked

=

#1[X]/Created

A1l

RIE /Product number

AUG66-50-50-[1[]

RE/Scale
1:8

{ERL B /Date 2022/11/09

R—/Page

2 /71




C {I#k / C Frame

450

65

M / Front side

D {81#% / D Frame

Z M / Front side

58.7

N
3

T

1

14

3

33 33

3

b )l
g <2
M3
5 _ 5
2-M3FHY 37}
2-M3 Countersunk
M EXEEHREFE / Same on the other side.
Z | / Back side
les pa |

B2

|

Z & / Back side

mmd/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 — D500 195
iR X ol R—/Page
1R H/Date 2022/09/27 3 /1




450 6.8 2

4.5

1.6

225
7o)
D

75\
N¢
14
Tk
2.9

M3

2-M3FAHY S
2-M3 Countersunk

147 / Total 4 pieces

mnda/Title
TAKACHI] #A&H4NFEHTE SL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
7 R/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
W500 12
EP*E X Ef’*ﬂ' ~N—/Page
{YER B /Date 2022/07/20 4 /7




A /\A2R)L / A Panel

450

55

BR~TiE / Max dim. 442+ 0.8

M@ / Front side

B /\7~JL / B Panel

M / Front side

<ti% / Max dim. 47+ 0.3

2

ol

fREE—MMAY

1.5

Surface protective film side |

REES — A

Surface protective film side |

ZETE / Back side

Z | / Back side

mnda/Title
TAKACHI| #XES#HAhFEHRI X INRIL @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
752/ Approved #%[X|/Checked #1[X]/Created RIE /Product number RE/Scale
H66 — W500 4
iR X ol R—/Page
{YER B /Date 2022/09/27 5 /7 7




4-R14.7
% g
@ <

FRE / Front side

489.4

470 8-4.5 2

REES— A

Surface protective film side

E#~Fi% / Max dim. 453+ 0.8

BE#~ti% / Max dim. 453+ 0.8

ZZ M / Back side

mn/Title
TAKACHI| MR HhFEHT X HI8— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 5%/ Approved & /Checked #X/Created RIE /Product number RE/Scale
W500 - D500 148
iR x ES2 ) N> /Page
{Em B /Date 2022/07/20 6 / 7




4-R14.7
% g
@ <

FRE / Front side

489.4

470 8-4.5 2

REES— A

Surface protective film side

E#~Fi% / Max dim. 453+ 0.8

BE#~ti% / Max dim. 453+ 0.8

ZZ M / Back side

mn/Title
TAKACHI| BXEHANTFERIXE TH/N— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7 5%/ Approved & /Checked #X/Created RIE /Product number RE/Scale
W500 - D500 148
iR x ES2 ) N> /Page
{Em B /Date 2022/07/20 7/ 7




	
	Sheets and Views
	Model



